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Cuts applied
Rank 1
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Cuts applied
Rank 1
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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Best sum of cosine angles
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Back up



COS (thag y pvistag)
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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abS(COS(thag,pvistag)) < 12
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Number of candidates
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Best sum around DO
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Best sum around D*
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Best sum b/w D and D*

Cuts applied

Rank 1

My > 5.27 GeV

-0.050 < AE < 0.050 GeV
abs(sin_phi) < 1.25
abs(cos(pstag,Pvistag)) < 1.2
1.83 <mp <1.89 GeV
1.7 <Mhagroe< 2.2 GeV

30

25

| Ll
02 -15

abs(Mhadroe— 1.96) < 0.015 GeV

B DK
— BB
— B

e'e -CC _
—— e*e - uu,ddss

=
]

h1

Entries
Mean
Std Dev

745

-0.1171

0.4014

h2

Entries
Mean
Std Dev

121

-0.1199

0.3536

h3

Entries
Mean
Std Dev

[ ]

h4

Entries
Mean
Std Dev

h5

Entries
Mean
Std Dev

| oo o o O O oo

Acosf

13



Best sum greater than D*
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Best su

Cuts applied

Rank 1 .

Msc > 5.27 GeV ”

-0.050 < AE < 0.050 GeV

abs(sin_phi) < 1.25 60

abs(cos(pstag,Puistag)) < 1.2

1.83 <mp <1.89 GeV

1.7 <Mhagroe< 2.2 GeV ’
0

Mhadroe > 2.006 GeV

m less than D

0

—B>D (K%')pi+ h
— BB Entries 3979
— B’ Mean -0.2307
o= Std Dev 0.4411

e'e 5cC ho
— e'e - ut,dd,ss Entries 535
~ Mean -0.2511
L Std Dev 0.4238

B h3
- Entries 1
— Mean -0.8067
B Std Dev 0

~ ng
o Entries 1
L Mean -0.7554
- Std Dev 0

- h5
— Entries 1
i MM Mean 0.02647
B Std Dev 0
= e L L " | e = A AR A R SR L == B

-2 -15 -1 0.5 0 05 1 1.5 2
Acos

15



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

